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Solving Sequence

27>8—>3—>9—>4—>1->10->6—>11>12 > 5> C4,C11
C C2 Csg C C1 Co Cg C1 C12 Cs

A knot diagranﬂ

Ideals for irreducible componentfbf Xpar

I = (u® — 11 + - 4 20 + 1)
I3 = (u+1)

* 2 irreducible components of dim¢ = 0, with total 70 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI = (u® — 11u8" + -+ - + 2u% + 1)

(i) Arc colorings

w= (1)

a7 =
ag =
az =

ag =

w’ — 2u® + 2ud — Qu)

(
(
(
(
ag = (u7+u52u3+u
(
(
(
(
(

uB
uw—ud+u
—ul0 ¥ — 28+t — w41
—u'? 4+ 2010 — 448 + 4ub — 3ut + 2u?

u?? —3u? 4+ 2u? + 1

u?t —4u?? 40— 1208 + 4ut
—u?t +5uP? 4w+ 1

—u30 + 6udt + - — 3ut + 202

—ut® 4+ 4017 — 10ut® 4 18u!® — 23ult + 2442 — 1847 + 10u® — 3u3
wl® — 3017 + 8ul® — 13013 + 17wt — 170 + 1207 — 6u® +ud + u

—uf? +11u% + - 4+ 20% + 1
as = \ uf? — 10u0 + -+ + 8ut + u?

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u5" — 40u% + .-+ — 12u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs w4+ 22088 + o —du+1
2, Cr u% — 116+ 4 2%+ 1
€3 ub — 2u5® ... — 466u + 61
C4,C5,C11 u — 2 42241
Cg, C10, C12 u% +3u% + .+ 96u + 15
9 u 4+ 8u%® . —2u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,cs Y% +50y%8 .. 12y — 1
c2,C7 Y% — 2258 ... 4y —1
€3 Y% — 10958 + ... + 70756y — 3721
C4,Cs5,C11 Y% — 54y . —dy — 1
€6, €10, C12 y% +69y%° + - — 2124y — 225
C9 Y% +2y% + ... — 308y — 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —0.991972 4 0.1438621

1.34578 + 4.894931

—0.86940 — 7.007971

u = —0.991972 — 0.1438621

1.34578 — 4.894931

—0.86940 + 7.007971

u= 0.991475 4 0.0919111 —3.34547 — 2.486351 —7.92585 + 6.491451
u= 0.991475 — 0.0919111 —3.34547 4 2.486351 —7.92585 — 6.491451
u = —0.658926 + 0.7963341 —0.433628 — 0.2035811 0
u = —0.658926 — 0.7963341 —0.433628 4 0.2035811 0

u= 0.736871 4+ 0.614606.1

2.92904 4 0.217101

1.212247 — 0.5581001

u= 0.736871 — 0.6146061

2.92904 — 0.217101

1.212247 + 0.5581001

u = 0.664003 + 0.8056231 —4.00701 + 4.761171 0
u = 0.664003 — 0.8056231 —4.00701 — 4.761171 0
u = —0.708316 + 0.7681931 2.43578 — 2.148281 0.+ 4.590761
u = —0.708316 — 0.7681931 2.43578 4 2.148281 0. —4.590761
u= 0.745411 4 0.7418611 3.11017 — 0.755641 0
u= 0.745411 — 0.7418611 3.11017 4 0.755641 0
u = —0.669215 + 0.8118207 0.28757 — 9.264731 0
u = —0.669215 — 0.8118207 0.28757 +9.264731 0
u = —0.935368 —1.88030 —3.00500

= 0.715362 + 0.7949011 7.54934 + 4.390011 0

= 0.715362 — 0.7949011 7.54934 — 4.390011 0

= 1.068480 + 0.1014671 —6.62522 + 0.104241 0
u= 1.068480 — 0.1014671 —6.62522 — 0.104241 0
u = —1.069720 + 0.1123071 —10.30900 4 4.499937 | —9.11338 4+ 0.1
u = —1.069720 — 0.1123071 —10.30900 — 4.499937 | —9.11338 4+ 0.1
u= 1.069200 + 0.1216921 —6.09738 — 9.056741 0
u= 1.069200 — 0.1216921 —6.09738 + 9.056741 0
u = —0.768907 + 0.7763071 8.45985 + 1.960961 0
u = —0.768907 — 0.7763071 8.45985 — 1.960961 0
u = —0.892627 4 0.6301561 —0.52815 + 2.447311 0
u = —0.892627 — 0.6301561 —0.52815 — 2.447311 0
u = —0.972878 + 0.5202131 —3.78853 — 2.834561 0




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —0.972878 — 0.5202131 —3.78853 + 2.834561 0
u= 0.977801 + 0.5338641 —7.85518 — 1.721761 0
u= 0.977801 — 0.5338641 —7.85518 + 1.721761 0
u = —0.981067 + 0.5478301 —4.01496 + 6.302861 0
u = —0.981067 — 0.5478301 —4.01496 — 6.302861 0
u= 0.841536 + 0.7626611 3.17898 — 6.922161 0
u= 0.841536 — 0.7626611 3.17898 + 6.922161 0
u = —0.858320 4 0.7461631 —0.89607 + 2.818251 0
u = —0.858320 — 0.7461631 —0.89607 — 2.818251 0
u = 0.887210 + 0.7440591 3.03339 + 1.230941 0
u = 0.887210 — 0.7440591 3.03339 — 1.230941 0
u = 0.960144 + 0.6580961 2.22365 — 5.287071 0
u= 0.960144 — 0.6580961 2.22365 + 5.287071 0
u= 0.964185+ 0.6995781 2.44076 — 4.744371 0
u = 0.964185 — 0.6995781 2.44076 4 4.744371 0
u = —0.955842 4 0.7280921 7.88682 + 3.726507 0
u = —0.955842 — 0.7280921 7.88682 — 3.726501 0
u = —0.989530 + 0.7072341 1.58470 + 7.747151 0
u = —0.989530 — 0.7072341 1.58470 — 7.747151 0
u = 0.993720 + 0.7224921 6.70266 — 10.112001 0
u= 0.993720 — 0.7224921 6.70266 + 10.112001 0
u = —1.019650 + 0.7048911 —1.51932 + 5.865471 0
u = —1.019650 — 0.7048911 —1.51932 — 5.865471 0
u= 1.021010+ 0.7101711 —5.08551 — 10.466801 0
v = 1.021010 — 0.7101711 —5.08551 + 10.466801 0
u = —1.021170 4 0.7144951 —0.7784 + 15.00261 0

= —1.021170 — 0.7144951

I~
IS

—0.7784 — 15.00261

0

u=0.709030 + 0.2326981

2.70697 + 0.122341

1.57891 + 1.072171

u = 0.709030 — 0.2326981

2.70697 — 0.122341

1.57891 — 1.072171

u = —0.295637 + 0.6115841

—2.29380 — 2.065761

0.948201 + 0.4629191




Solutions to I

V=1(vol + v=1CS)

Cusp shape

(

IS

= —0.295637 — 0.6115841

—2.29380 + 2.065761

0.948201 — 0.4629191

0.267368 + 0.6207461

—6.03688 — 2.422351

—2.36442 4 2.923141

0.267368 — 0.6207461

—6.03688 + 2.422351

—2.36442 — 2.923141

—0.243750 + 0.6274451

—1.88595 + 6.887871

1.87116 — 5.763291

—0.243750 — 0.6274451

—1.88595 — 6.887871

1.87116 + 5.763291

0.097783 + 0.5423131

4.72615 — 2.751941

7.92617 + 4.597501

0.097783 — 0.5423131

4.72615 + 2.751941

7.92617 — 4.597501

= —0.145390 + 0.4094751

0.081720 + 0.9499941

1.58080 — 7.183271

glR|g|f|g|g|g |-

—0.145390 — 0.4094751

0.081720 — 0.9499941

1.58080 + 7.183271




(i) Arc colorings

(ii) Obstruction class = —1

(iii) Cusp Shapes = —6

II. I; = ('u,—i— 1>



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C3
C4,Cs5,C7 u+ 1
Cg, C11
C6, €10, C12 U
€9 u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
C4,C5,C7 Y- 1
€8, (9, C11
C6, C10, C12 )
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape

u = —1.00000 —1.64493 —6.00000
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
c1,¢8 (w+1)(u® 4+ 22u%® 4 - —4u +1)
co,C7 (w+1)(u® — 11257 + -+ 2u% + 1)
3 (u+ 1) (u® — 2u58 + .. — 466u + 61)
€4, C5,C11 (u + 1) (u® —2u® + .- + 20 + 1)
C6, C10, C12 w(u®? + 3u%® + - + 96u + 15)
9 (w—1)(u® 4+ 8ub® + .. —2u—1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,cs (y — )% + 50y + - +12y — 1)
Ca,C7 (y —1)(y% —22¢%8 ... — 4y — 1)
s (y — 1)(y* — 10y% + - - + 70756y — 3721)
€4, C5, €11 (y = 1)(y* — 54y +--- —dy — 1)
C6, €10, C12 y(y® +69y%% + ... — 2124y — 225)
c (y = D +2y> +--- — 308y — 1)
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